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11. 1
_ _ _.343
In 5000

121 4509.2 inches

12 inches
1ft

11sides

=34.2

Il
=

13 p=2(W+L) A
176 = 2(W +W +8) =(48)(40)
176 = AW +16 =1920
AW =160
W = 40
L =48

24100 Ibs = 1600 oz| 1600

“lp 12+ (%](22) + (;—2)(27)

=12+7.54+9.26
=28.8

264(n-2)(180) = (249-2)(180)
= 44500

35.

9/(-8502001)" =54.0

36./$12,642.17

18067 ya7 25628 yd? =$919.83
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37. c - 271 A= ”_rz
2 2 2
I (4.557)2
2 T
_ T
c 2
r=2 ~3.31
VA
. (2)(4.557)
B 2
4557
T
38.|A=nxrr,
(35.9)(13.4)
= 7Z' — —_—
2 2
=378
47. C=2nr
. 5.09
2
Revolutions = M
~ (354 miles)(5280 ft)
27[(5.09)
2
=1.17 x 10°
48.| L9461 _ Iog 7461
=9461log 7
=4703.53494556...
Write in the answer blank, x 104
Subtract 4703 from the display
Hit the 10* key and write in answer blank, 3.43 x 10%"%
. . .009 +.00245 ++/.0092 —.002452
Semi — perimeter = >
=.0101
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59.

60.

61.

62.

Adjacent
Hypotenuse
c0s32.7 45x

1 X
457
 c0s32.7

Xx=119

cosd =

2)(2)T)_ssom
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15.03 Ibs 1lb

100 gold _ (10silver )’
xgold  (2silver)’
(10)"x =(100)(2?)

_ (100)(2?)

(10)

(2.98)° (3.44)
3

=10.2

")(1.75")(1.25") = 94.1in?

3.59in° 94.1in°

1lb x Ib
3.59x=94.1

94.1
X=—=

3.59
x=26.21b




71.

72.

73.

74,

Calculator Test 15
2010 - 2011

(100 ml)(98%) = (100 ml + x)(72%)
100(.98) =100(.72) +.72x
98 =72 +.72X
72x =26
_ 26

X =—0o
72
X =36.1

(x +144)+(x)+[(2)(x +144)+16 | =1000
X+144 4+ x +2x +288+16 =1000
4x + 448 = 1000

4x =552

X =138

Clear Area = Avedium Equilateral Triangle — Asiai Equilateral Triangle
_s*J/3 s%3
4 4
 5.86°J3 3.52%3
4 4
=9.50

Span Formula
Span =(1+ «/E)(Side of polygon)
- (1+42)(879)

=2120
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